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01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS
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SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
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18 JAN 2023

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI

25 JAN 2023

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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IBPS Target Batch Schedule

** Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =



The ratio of male and female in a company is 5: 3. If 40 females left the company, then

the ratio becomes 25: 13. Find the total number of males in the company ? .

Ueh Ul H oV iR HAfgell &1 3guld 5: 3 &l TG 40 ARG o Hu! Big &, d gurd
25: 13 @ STl &1 HUAT A ool &l ol FEIT Ad HfSA?

A.250
B. 750
C.500
D.900
E.NOT




Two buckets of same quantity are respectively (1/3)rd and (2/5)th full of milk. Then R
filled up them with water and the contents are mixed in another bucket. What will be the

new ratio of milk and water in another bucket?

JATA AT T &l dfecdm HAA: (1/3)rd AR (2/5) U 4 3 g & T RA 3o U=l F W
feam 3R e o qE aredt H RS ST &1 G dred! # gq¥ 3R UTel &1 A1 Ui
AT BIIM? |

A.11: 20
B.12: 25
el 1519
D.12:11
B9 a1l




The ratio of the incomes of A and B is 2 : 3 and that of their expendituresis1:2.If 90%
of B’s expenditure is equal to the income of A, then what is the ratio of the savings of A

and B?

A3 BT 3T T HJUTd 2 : 3 & 3{X 3edch eI &I Ui 1 : 2 &l TG B eI &I 90%
A 3T & SR &, dl AR BHT IId I HJUld AT &7




Two students appeared for an examination. One of them secured 9 marks more than the
other and if his marks were 56% of the sum of their marks. The marks obtained by them

are?

al B9 Teh GleT & U 3UREYd §U| 398 8§ Teh o g@k § 9 3ish 31 gra fobu 3 afe

3ch 37h 3ol 37l & AT BT 56% A| 3 gRT UTH 37 FAT &7

A.40,31
B.72,63
C.42,33
D.68, 59
E.NOT



If the ratio between pass and fail students 5:7. If 52 students failed less then passed

and fail ratio will become 4:3. Find total number of students?

I 30T AR 370 STH1 & A &l U 5:7 &l TG 52 OF A FFH &ld & af 3ol
3R 30T U 4: 3 B AT BT Y Pol HEIT AT Dliod?

A.330
B.334
C.336
D.230
E.NOT




The monthly incomes of A and B are in the ratio 2 : 3, and the ratio of their savings is 3
: 4. If the income of A equals the savings of B, then the ratio of the expenditures of A

and B is ?

A3 BT ATRID 3T &1 HJUTd 2: 3 §, 3R IeAhl Iad Pl Ui 3: 4 §| TG AD 3
BT I o RN &, dl A Bdh I Pl HJUTd T &7

Al:2
B.4:5
23
D.3:4

E.Not



A is 120 liter of mixture of milk and water in the ratio 17 : 7. 40% of mixture is poured
out and poured into vessel X. Vessel X contain a 100 liter mixture of equal milk and

water. Find the new ratio of milk and water?

AT 3R Tl & fHHUT 1 120 ot THHOT 17: 7 & 3FqUid H gl [HHOT &7 40% Tl XH

STell ST &1 Iel X §A g9 3R Urell &7 100 ofie THH0T gar &1 g 3R urell &1 a3
HIUTd ST DT ? .




The ratio of incomes of A and B is 5 : 4 and ratio of their expenditure is 3 : 1. If the
savings of both A and B are equal, then what is the ratio between income and expenditur

of A?

A 3T BT 3T &I 3HUIT 5: 4 § IR 3cdd I &I AUl 3: 1 &1 TG AR BEEAT H
I SRR &, al AP 3T 3R <IF & I &1 Ui T &2

A.3:
B.4:
G2 :
D.5:
5%

N W PPN



The ratio between the monthly salary of P and Q is 20 : 21. The ratio between the

expenditure of P and Q is 5 : 7. The difference between the salary of Q and P is 2000rs
and the savings of Q is 14000rs. Find the ratio between the savings of P and Q?
P3IR Q& HAMMTD ddd & T &1 Hgurd 20: 21 &1 PR Qb TT & &= HI1 3gUid 5: 7

el Q3T P A & T &1 37aT 2000 3T & 3 QY TUa 14000 TUA & PR qfr
9Id & dIT Pl AU F1d HIiSA?

A.2:7
B.12:7
G52
D.7:12
E.10:7




The ratio of incomes of A and B is S : 3 and that of their expenditures is 9 : S. If they saV
2600rs and 1800rs respectively, then their incomes are ?

A 3R BT 3T T HAUTT 5: 3 & RN A <II & U 9: 5 &l TG I hAA: 2600 TUA
3IR 1800 ¥UY IdATd &, dl 3eddhl 3T T &2
ffﬂ

A.Rs. 9000, Rs. 5400
B. Rs. 10000, Rs. 6000
C. Rs. 6000, Rs. 3600
D. Rs. 8000, Rs. 4800
E.NOT




If two bags A and B contain balls in the ratio 2:3. If 40 balls taken out from bag
B and add in bag A then the ratio of both bags will become 12:13. Then find

total number of balls?

gfe &l 9T AR BH 2: 3 & 3iUId & ¢ &1 Ife 91 BA 40 31 Il ATl § T T
AH SN ST & A Sl d9IT BT IHJUTd 12:13 & STWIM| &Y el B ol FE&AT A1d HIAA?

A.300
B.400
C.500
D.600
E.NOT




In a class the ratio of boys and girls are in the ratio 7:10. If 80 boys and 80 girls
leave the class then ratio becomes 6:11. now Find the new number of student?

Uch HaTT H oIsehl AN ISfehdl &1 Ui 7:10 & 3Hurd H §. Iig 80 oi5ch 3R 80 wisfehar
haTT BIS &d & al AU 6:11 & ST &1 3 SEI I 5 FEIT AT HifAd?

A.400
B.240
C.320
D.550
E.NOT




In a class the ratio of boys and girls are in the ratio 2:5. If 40 boys and 190 girls
leave the class then ratio will become 1:2. Find the number of girls?

Tch a1 H oISl 3R oTS{ehdT &1 IHequrd 2: 5 & 3Uurd H &l IfG 40 o3 3R 190
TEfhaT He BI5 & § d U 1: 2 @ | JIsfRat fr e g A

1.220
2.330
3.440
4.550
5.NOT




If some amount was divide among A and B in the ratio 4:5 but mistakenly is
will divide in the ratio 2:1. Therefore, A gets 140rs more. Then find total
amount?

gic o VA B AFR BH @1 4: 5 & Igurd H [AHTSIT FRIT I=AT AT, Afhed ITelcdt &
38 2: 1 & Fequrd A faaifaid foham Suom| safow, AP 140 30 3 fAeld &1 ol Pel
URESICECIC B

A.560

B.630

o C.320
M

;ﬁt D.540

(L
Pl
!

ey E.NOT



If some amount had divided among A, B and C in the ratio 2:3:2 but mistakenly
it divided in the ratio 5:2:1. Therefore, C losses 900rs. Then find total amount?

I o UM A A,BAR ¢Fh &I 2: 3: 2 & 3qurd # A forar = o, oiferd
Al § 38 5: 2: 1 A faurfora foham aram U1l s&feT, €l 900 TUYA T FhdT
T ®1 Al $o AR AT ?

A.5400
B.5600
C.3500
D.4040
E.NOT




Fresh fruit contains 68% water and Dry fruit contains 20% water. How

many kg of dry fruit can be made from 200 kg fresh fruit? .

dTsl Bl H 68% Ul BT & 3R & %ol # 20% U 8T &1 200 TRl drel %ol & fohd
fehell 318 Pe IATAT ST Hehdl &2

A.100kg

B.80kg
v C.120kg
e D.240kg




How many job applicants had applied if the ratio of selected to unselected was
19:17. 1If 1200 less had applied and 800 less selected, then the ratio of selected to

unselected would have been 1:1 ?

foraar AlAd 3mdeenl & 3mdea frar o afe gafaa 3R 3maf@aa &1 3regura 19: 17 ar? Ife

1200 &H 3Tded fhar a1 gidr 3R 800 &dA IIfAd &id, dl IIfad HAIfAT P HJUTd
1:1 BIAT?

A.6000
B.7200
C.38400
D.4800
E.NOT




Ratio of Land : water on earth is 1:2 and ratio of land : water in northern

hemisphere is 2:3. Find the ratio of Land : Water in southern hemisphere?

g2l OT {fH : STl T HJUTd 1: 2 & 3R 3 e H JH : Ul ol 37qurd 2: 3 gl

claTol aMelg A H{fH : STel &I HJUId AT DI ?

A.3:11
B.4:11
C.1:2
D.1:1
E.NOT



If an examination, the number of those who passed and the number of those who failed @\
were in the ratio 4:1. If 35 less had appeared and the number of failures were 9 more tha

earlier, the ratio of students who passed to the number of students who failed would have
been 2:1. Find the total number who appeared at the examination?

g @IS udeT ol g8 § 3T Aol el arcll T HEAT T HeUT 4:1 B
3URRYT gU U AR B3 &l HEIT Ugel I Joledl H 9 31Uh AT, dT 3401 g drel DAl
ﬁ?yﬁﬁﬁmﬁmzﬁraam T AUl 2: 1 BIAT| G H 3URRYT &l drel ol
JEIAT AT P ?

A.135
B.155
C.165
D.205
E.NOT




Ratio between the expenditure of A and B is S : 7. Find the income of A if the difference
between the expenditure of B and A is 2000 and income of A is 25% more than the

expenditure of B ?

AsﬂTBas—a?IéﬁaﬁErqvla@mds 7 &1 IfE B3R Ad =¥ & fIg &1 HAX 2000 & 3R A

hT T Bh =TT & 25% 3D

e, ar AP 3 A1 A

(@]

A.2546
B.8750
C.7542
D.1285
E.NOT



There are three sections I, II and III in a college. Ratio of total number of students in

section I, Il and IIl is 4 : 5 : 7. In section III, ratio of number of boys to girls is 13 : 12. In
section I, 40% of total students is boys. In section II, number of boys is 66.66% less than

the number of girls of section I1. Find total number of boys is what percentage more or

less than the total number of girls in all the section together? (Approximately)

(&)

A.10%
B.32%
C.75%
D.98%
E. 60%

ess
ess
ess
ess
ess



The number of mainas and parrots in an zoo is in the ratio of (4x + 5) : 4x. If 25 mainas

and 10 parrots are added to the zoo, then, the ratio would change to 5 : 3. How many
mainas are there in the zoo at initial?

A.20
B.30
C.35
D.25
E.NOT




A sum of money was divided between T, R and K in the ratio 7 ¢ 4 : 9. But, K gave 1/3 of
his share each to T and R. If T received 1800rs more than R, then what is the total sum o
money?

Th GeRIA P ,RIRKS ST 7 : 4 : 9 & H aufaa fopam ram an| ofhd, KA T

3R RI U RFH &1 1/3 foeam feanl Il T RE 1800 IUA 31U Uid g, ol P
YA AT &2 |

.Rs. 6000
Rs. 9000
Rs. 12000
.Rs. 15000
E.NOT

e AR




blue pebbles are removed and 18 red pebbles are newly added in a box then the ratio
becomes 2 : 5. Find the total number of pebbles were present in a box before addition an

removal?
(@]

The ratio between the number of blue and number of red pebbles in a boxis 6 : 11. If 12 .
d

A.215
B.200
C.204
D.210
E.132




Two types of oil, A and B have been mixed in the ratio of 3:2 and total mixture is 90 litre @\
When one third of mixture was consumed, some more quantity of oil A was mixed with
the mixture and the ratio was made 2:1. The quantity of oil A mixed later on was?

al UhR & o, AR BPI 3: 2 & A fremar o § 3R o fAsor 90 ofie ®1 5@
0T o1 T faers feear @ o=, O 340 & @Y dd AP oo 3R A e B AR
HUTT 2: 1 g1 AT 916 A fRAHT Aol ADr AET 4T e

A.8 L
B.15L
C.10L
D.12 L
E.20 L




SQUARE®E) :

12=1

22=4

32=9

42=16
52= 25
62= 36
72= 49
82= 64
92=81
102= 100

e 120

122=144
132=169

14°= 196

152= 225
162= 256
172= 289
182=324
19°= 361
202 =400

212 =441

222 =484
23°=529
242 =576
25%= 625
26°=676
277 =729
28%=1784
292 =841
302=900
29







